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Question 1:(10 points) Choose the best answer for each of the following?
1. Which operator can not be overloaded?


a.  [  ]


b.  + =


c.  = =


d.  .?


e.  ( )

2. Base class's protected members may be accessed by:

a. members and friends of base class

b. members and friends of derived class

c. both a and b

d. non of the above.

3. A base class may be inherited as:

a) Public only

b) Private only

c) Protected only

d) All of above

4. When deriving a class from a protected base class,

A)public members of the base class become protected member of the derived class

B)protected members of the base class become protected members of the derived class

C) private members of the base class become protected members of the derived class

D) both a and b

5. When deriving a class from a private base class, public and protected member of the base class become____ members of the derived class.

A. public  

B. private  

C. protected  

D. friend

6. In an inheritance, a derived class

a)Can access to public, private and protected base class members.

b)Can only access to public base class members.

c)Can access to public and protected members.

d)Cannot access to protected and private members.

7. Write the order in which constructors and destructors of a derived class and its base class are invoked.

a).Base class constructor, Derived class constructor, Derived class destructor and Base class destructor.

b).Base class constructor, Derived class constructor.

c).Base class constructor, Base class destructor, Derived class constructor and Derived class destructor.

d).Base class constructor and    Base class destructor.

8.From main, we can not access to?


a. private members.


b. protected members.


c. public members.


d. all of above.


e. a + b


f. b +c

9. We can access to private members:


a) from inside a class.


b) from a friend function.


c) from a derived class.


d)  a + b


e) b + c

10. Consider the following two classes.

class Base{ 

int x;

public:  Base( int a )

{ x =  a;  }

void show( )

{ cout<<x;; } };

class Derived : public Base

{public:   

Derived( int c):Base(c)  {         }

void print( )

{ show( ); }}

Assume that the following declaration appears in a client program: Derived b( 7 );

What is printed as a result of the call b.print( )?

a) 7

b) Error, we can call print member by using b object.

c) 0

d) show.

Question 2 (5 points): Complete the following program to be correct?

Class overload

{  

      int *x;

      int y;

};

overload input ( )

{ 

    overlaod k(1,2); // give the first value to *x and the second value to y.

    return k;

}

main ( )

{

    overload a,b,c;

    a += 10 + b;

    if ( a >= b)    

    c = input ( );

}

Good Luck
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